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(English Version)

You must write the subject-code/paper-code 054/A in the box provided on the title page of

your answer-book. :

(i) Make sure that the answer-book contains 32 pages (including title page) and are properly
serialled as soon as you receive it.

(iii) Question/s attempted after leaving blank page/s in the answer-book would not be evaluated.

(iv) Question paper has four Parts A, B, C, D with total 17 questions.

(v) Part - A has question number 1 having 28 sub-parts of 1 mark each. 15 questions are of ~ o

Multiple Choice Question type, 5 are True/False, 5 fill in the blanks and 3 questions from

comprehension passage. '

(vi) Part - B has question number 2 to 11 total 10 short answer type questions of 2 marks each.
Question 3, 4, 9, 11 have internal choice.

(vii) Part - C has questions number 12 to 15 total 4 questions of 3 marks each. Question 14 and
15 have internal choice. ,

(viii) Part - D has question 16 and question 17 total 2 questions of 5 marks each. Both questions

have 100% internal choice.

Note : (i)

E%EL
C0|

- s E-%EI
1.  Each question carries one mark. [Ofrt

Multiple Choice Questions.

(@) In an ecosystem, the rate of production of organic matter during photosynthesis is 1
termed as :
(@) Secondary productivity. (b) Net productivity.
(c) Net primary productivity. (d) Gross primary productivity.

(ii) Pyramid of numbers is : 1
(a) Always upright fb) Always inverted
(c)  Either upright or inverted (d) Neither upright nor inverted

(i) Species diversity as we move from equator to poles. 1
(@) Increases Ab) Decreases ;
(c) Remains same (d) May increase or decrease

(iv) - Given below is the diagram of typical anatropous ovule. Observe the diagram and 1
identify the parts 1, 2 and 3. :

1
e
2 Ops
< 3
(a) 1 Micropyle 2. Embryo sac 3. Chalazal pole
(b) 1. Micropyle 2. Chalazal pole 3. Embryo sac
(c) 1. Chalazal pole 2. Embryo sac 3. Micropyle
(d) 1. Embryo sac 2. Micropyle 3. Chalazal pole
054/A-SS 15 [Turn over
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(*)

EJ%EI-
Oprt

bee buzzes inside a flower to drink nectar. While there, some pollen from the
flower’s stamen gets stuck to the bee’s wings and legs. Later, the bee goes to another

and comes into contact with the pistil of the flower. Which process of
ileopv;’;;uction is the bee helping with ?

@) Pollination (b)  Seed dispersal E?EE
(©) Germination (d) Plant Growth .

Cessation of menstrual cycle in human female around the age of 50 years is called :
(a) Lactation : (b) Menopause
(c) Puberty - (d) Ovulation

Name the assisted reproductive technique in which embryo with upto 8 blastomeres
is transferred into fallopian tube.

(2)
(b)
¢) Intra Cytoplasmic Sperm Injection (ICSI)

Zygote Intra Fallopian Transfer (ZIFT)
Gamete Intra Fallopian Transfer (GIFT)

—_

d) Artificial Insemination (Al) E-%El
O

When a tall plant with round seeds (TTRR) is crossed with dwarf plant with
wrinkled seeds (ttrr), then F,; generation consists of all tall plants with round seeds.

- What would be the proportion of dwarf plants with the wrinkled seeds in-

F, generation ? .
() 9/16 (b) 3/16
© 1/16 | d 0

O‘ifa;ionaﬂy, a single gene, may expréss more than one effect. The pheriomenon is
Calleq :

(@) Multiple allelism (b) Melanism
© Pleotropy @ Polygeny
T . L rE) . ; : : ; ' ' |

O initiate translation, the mRNA first binds to: . . .
(@) The Smaller ribosomal sub-unit

(b) The large; ribosomal sub-unit -

3 (c) The whole ribosome

054/A-SS -
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(xi) The thorns of Bougainvillea and tendrils of Cucurbita shown in the following 1
diagram are the examples of :
i
O}

Tendril

Bougainvillea Cucurbita

(a) | Homologous organs

(b) Analogous organs

(c) - Palaeontological evidence for evolution
(d) Embryological evidence for evolution

(xii) ~ Which of the following antibiotics was extensively used to treat American soldiers 1

bounded in World War II ?
(@) Neomycin (b) Penicillin
() Amoxicillin (d) Streptomycin
(xiii) Identify the palindromic nucleotide sequence in the following. %ﬁ 1
(a) 5 GAATTC3 (b)) 5 GAATTC 3 0L
3 CTTUUG ¥ 3 CTTAAG Y
(c) 5 GAATTCY¥ (d) 5 AAGTTJ
3" GAATTC Y 3’ TTCAAS
(xiv) What is true about BT toxin ? ' == 1

(a) The inactive protoxin gets converted into active form in insect gut

(b) It is already in activated form
(c) The activated toxin destroys the reproductive part of insect thus prevent its

multiplication :
(d) None of the above %
(xv) If an organisms body pattern resembles its environment making it difficult to spot it is 1
called : gy /
(@) Camouflage (b) Migration
(c) Warning Coloration (d) Both (a) and (b)
.
Write True or False. EIYE

(xvi) BOD of polluted water is more than that of potable water.
(xvii) -Death of organism is the beginning of detritus food chain.
(xviii) Keeping animals in zoo is an in-situ mode of conservation of biodiversity.

(xix) Presence or absence of hymen is not a reliable indicator. of virginity or sexual

experience. | :
(xx)  Infertility is defined as the inability to produce a viable offspring and is always due to 1
abnormalities/defects in the female partner.

I
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U e . : ioch lants.
(xxii) is a symbiotic association between fungi and roots of higher p
(xxiii) The colourful part of the flower that attracts pollinators isknownas . 1
(xxiv) Chromosome theory of inheritance was given by
(xxv) = The unidirectional flow of genetic information from DNA — RNA — Protein is
referred to as the in molecular biology. .§ . EBE
' ' El%i.
Comprehension passage
Read the passage carefully and answer the given questions. '
Cannabinoids are a group of chemicals, which interact with cannabinoid receptors present
principally in the brain. Natural cannabinoids are obtained from the inflorescences of tl-le
plant Cannabis sativa. The flower tops, leaves and the resin of cannabis plant are used in
(various combinations to produce marijuana, hashish, charas and ganja, Generally taken by
inhalation and oral ingestion, these are known for their effects on cardiovascular system of
the body.) 3 ok
(xxvi) Name the various drugs obtained from Cannabis plant ? e |
(xxvii) Which part of body is affected by consuming cannabinoids ? 1
(xxviii) Natural cannabinoids are obtained from which part of the plant Cannabis sativa ? 1
E%E
3 -B
B Part -
Each question carries 2 marks.
2. Draw a labelled diagram for sectional view of human ovary ? = AR 2
3. What is co-dominance ? Give an example. g A 141
OR :
A child has IZ:\OOd group ’Sf’. ;If: et?is f:lt:i(eih};as :10%(11 group A and mother has blood group 2
B, work out the gengtype P possible genotypes of other offsPrings_
. What do you mean by medical termination of pregnancy (MTP) ? il :
2 pregnancy is considered safe to perform MTP ? . ¥)? Which time period of 1+]
: OR _ ‘
i hort note on vasectomy. EIEE 5 :
Write a short no = 7
5 How is a cancerous cell different from a normal cell ? . - R o ;
¥ WhY do we add an inoculum of curd to convert the milk into cyrd ? | ;

Fill in the blanks.
t

(xxi)  Large scale production of biotechnological products involves the use of

.
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. Part - D
Each question carries 5 marks.
(a). Whatis triple fusion ? : e
()  Where and how. c.loes it tal.<e pl.ace ? ', _ _ oz o ;
(o) Name the nuclei involved in triple fusion. 2 2
OR '
; 19 5
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7. glihdeog?\llz stranded DNA has 20 per cent of cytosine, calculate the percentage of adenine 2
: EI-%E]
i EIRe
8.  Whatis divergent evolution ? Give an example. 1+1
9.  What is the role of ‘Ori’ for cloning vector ? :
4 OR ‘
Explain the principle that helps in ‘separation of DNA fragments in Gel electrophoresis.
10. What do you understand by biopiracy ? 2
11. Define Commensalism. Give an example.- g
: OR
What do you mean by hotspots of biodiversity ? e
o
Op Part - C
Each question carries 3 marks.
2.  Write down the postulates of Darwin’s theory of evolution. 3.
13. Explain the experiment performed by Griffith on Streptococcus pneumoniae. What did he 3
: conclude from this experiment ? ;
.J4.. Whyis restriction endonuclease called as “Molecular Scissor’? Explain its role in biotechnology. 3
OR
What is gene therapy ? Tllustrate using the example of adenosine deaminase deficiency. 1+2
15. ‘Name the causing agent of elephantiasis. Also write. down its symptoms and mode of

transmission. : | A
OR i frrs,

Name any one symbiotic microorganism which serves as a bio-fertilizer and ‘mention its 1+2

_specific role.



tubule of Human testis. Observe the
ous

o
O]t

Given below is the diagram of a part of senﬁntllfs;s.
given diagram and answer the following ques

; . tch the following.
(2)  Identify the parts labelled 1, 2, 3 and 4 in the diagram and ma

Column A Column B
| Spermatogonium
ERE 2 Primary Spermatocyte
- S

Secondary Spermatocyte
4 Spermatozoa ¥
(b) What will be the number of chromosomes in Secondary spermatocyte and Spermatid ?.

(c) What do you mean by spermiation ?

17. (a) Given below is an ideal

pyramid of energy. Find the energy reaching at top level of
this pyramid. :

Trophic Level Ehergy (in Joules)

TC (Tertiary consumer)

SC (Secondary consumer)
PC (Primary consumer)

PP (Primary producer)

| 50,000

®  “Pyramid of energy is always upright, can never be inverteq’,

statement. Comment upon the
: OR
. : e ; E%E
Discuss various causes of loss of b10d1ver31ty. 5
-00o0-
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